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This question paper consists of 34 questions and 8 printed pages.
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General Instructions :

1
2

Candidate must write his/her Roll Number on the first page of the question paper.

Please check the question paper to verify that the total pages and total number of questions
contained in the question paper are the same as those printed on the top of the first page.
Also check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives
given in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the
answer-book given to you.

All the questions including objective type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective type questions.

Making any identification mark in the answer-book or writing roll number anywhere other

than the specified places will lead to disqualification of the candidate.

Write your question paper code No. 44/AS/3—A on the answer-book.

(a) The question paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box
provided in the answer-book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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el YIS % UBW USS UX STUAT STghHI% Had g |

FUAT UL B A W 6 YT b FA 63 qAT U9 N Al & e & R v yes
% 999 SU B ¥ | 39 91 Bl Sd W B o [ U wiw ®U H ¥ |

TEIFTs w9t | simum! A faedt (A), (B), (C) 99T (D) ® € &3 T SUX gl & qan &
T FOC-gRaw § ey wd SO fefaw |

JERITSS Al % Fg-wg G Al % X MUiia sty & Wi 8 3 § | aggiTss el
% foq ot o wHE @ fen s |

ST-giaw ¥ wean-fE 9 sgen Midw el & sl w80 W srgwaie faes
TOEl @l g SEET SR |

SO ITL-YRABT TX TTIS Bl Bs T 44/AS/3-A fae |

() WU heael TESN/SUST § ¥ | fiey o, afy e T A e Y 1 fedll we W W S
T g €

Hicll, AT, ST, U, HeH, @@pa i e |

FuAT IAC-gRAHT 7 Ry U gte W T 76 omu Rew et § s) fow w R

(@) afy g & ua oiUw & erfafia fpdt o o & SO fomad & o w9 & 93
¥ g awtl Jfeat | it w e daw st g
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(1) All questions are compulsory and carry marks as indicated against each
question.
(2) Multiple choice questions carry one mark each.
(3) All questions are to be attempted together within the allotted time and no
separate time is allotted for answering multiple choice questions.
(1) AW veT SaE ¥ SR Ud® UeT & ol SHe ae T ™ ¥ |
(2) IS YT TH-TEK H FH § |
(3) W YAl & SuX MU g # 3 ¥ ol @ Al o@W ° HH aETe
ael % faw T ¥ |
Which one of the following is a basic want ? 1
(A) Car
(B) Book
(C) Shelter
(D) Pen
felafeq & @ @99 & qd AEydsdal § 7
(A) &R (B) U&®
(C) oI (D)
Capacity to produce can be increased : 1

(A) By producing more capital goods

(B) By using better technology

(C) By making proper arrangements for training of workers
(D) All of the above

IR &Hal & ™1 o qohdl §

(A) oty YSirTg awgsil &1 STeT &k
(B) &Y dHAleh & TAMT 9

(C) sl & STag wiytetor & <Jawen &k

(D) Swfwq @

44/AS/3—4214 A ] 3 [ Contd...

www.FirstRanker.com



» FirstRanker.com

A Firstranker's choice

www.FirstRanker.com www.FirstRanker.com

Income of labourer is : 1
(A) Wage

(B) Interest

(C) Rent

(D) Profit

gt B T T T

(A) ol

(B) =1

(C)

(D) ww

Inflation means : 1
(A) Rise in price of a commodity
(B) An increase in price of goods and services which is sustained for a long time
(C) Fall in price of a commodity

(D) A fall in prices of goods and services which is sustained for a long time

&1 ®Wifq ¥ sl ¢ ¢

(A) frel ag = @ma A gfa

(B) ax X qatell & wmal H dgwias Miag ghe
(C) Trel axg = @ma H &

(D) T X garsll & @Al H Adewlad AT &

An important characteristic of resources is : 1
(A) Resources are scarce and they can be put to alternative uses.

(B) Resources have specific use.

(C) Resources are unlimited.

(D) None of the above.

Tareet @l gem fagwar ®

(A) €OiEd gEW G ¥ qAT Ik Ibiedd AN €W ¥
(B) dayel & T g o ¥

(C) dHigw omdifta ' & |

(D) IEF H ° H3 TEl |
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Which one of the following statements is not correct ? 1
(A) Planning is a way of organizing and utilizing country's resources.
(B) Prof. P. C. Mahalanobis was the real architect of second five year plan.

(C) Planning is a technique in which a central planning authority seeks to achieve
definite objectives and targets without a specified period of time.

(D) Soon after the independence, planning based on Russian experience was introduced
in India.

frefafad & & @991 &9 dle A& T 7

(A) T TRET 39T & HEIEEl kWA B T ¥

B) Tedm vuedlm T % ardfae A WL @ @) mEeesE 9 |

(C) o Tty & mied ¥ hg e uraser fhdl g9y §u9 & T &
fafyaa Seeal ofk wedf &1 witd &1 wa™ &Xar & |

(D) wdsal Uid & gia 918 9RaG W B9l SgHAl UX SYIRd ASHg ST BT
d T

Which one of the following statements is not correct ? 1
(A) Evaporation cleans the polluted water in rivers, seas and oceans.
(B) The long term use of resources has to be sustainable to avoid their future scarcity.

(C) Exhaustible resources are saved for the future use when the renewable resources
substitute them in their present use.

(D) The renewable resources do not regenerate automatically.

Frafafaa wat & @ wF-—w S @ & ?

(A) TrediBIer ARG I WY W UGG W@ Bl A% BT § |

(B) HEEAl 1 IR G0N ITANT Il Afasm H gaAdar U & @ T

(C) eraslie "aiee & wiasy o IU & T soq &l @ 59 TEe arg §HiEs
ITHT gaq Sum o fawew s )

(D) “dBIONT GOl HT UN Y TABIOT Tl shar |

Noise pollution can cause : 1
(A) Tuberculosis (B) Deafness
(C) Cholera (D) Dysentry
@M YUY % RO B Whdal ©
(A) &I (B) «EXUA
(C) ¥ (D) ufag
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Why is it important that man should learn to limit his wants ? 2

TE A HqEEw § {6 AgE uAl errasTehdrsl @l diftd @ Wi |

What is meant by partnership ? 2

el ¥ F oty ¥ 7

Distinguish between private goods and public goods. 2

el iR wredsite aggsll § #% &ifve |

State two aspects included in the term 'Increase in production'. 2

[UEA ghE W i fRY WW oA @ wel @1 Sw@ @i |

What do you mean by distribution of goods and services ? 2

a5y ofx damel & faaver ¥ omust w0 AWMU &7

How will the equilibrium price of a commodity be affected when 2
market demand for the commodity is less than its supply ?

frdl axg @ dga7 Hma W R/ YNE TS AR aEg Bl AR AT IED!
A & HA & 7

Suppose, you are a manager in a bank. Explain to a customer about 2

'recurring deposit account'.

A Wi, oY fedl % ¥ ook € | fedl ume @ ‘omald oW @ %
I H gEEEy |

Define Saving. 2
Foq & uhedmn fafes |

Who are included in unemployed population ? 2

EEGS AR B 75 M ) Ve 1 s A7 L 1

What are 'Intellectual Property Rights' (IPRs) ? 2
difgs TET AfMeR 0 B § 7

44/AS/3—4214 A ] 6 [ Contd...

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice

www.FirstRanker.com www.FirstRanker.com
19 'Wants change and expand with development'. Justify this statement. 4
‘FrEgEsare H [qHE % WY uiEdad X uRadT a1 § 1 39 U @ siifa
HATRY |
20 Suppose, you are an entrepreneur. Explain any two factors which will 4

affect your decision in choosing whether you have to use labour intensive method

or capital intensive method of production for production of a good.

A I, oY Tk SYHl & | U9 [l & ®Iehl @1 Seald@ diey S fepdl
I % SURT H U $W Ted [af¥ H ST HLA ¥l YSi Tew {4ty @,
Tk TIT H AUe MU @ YHTGT &Y Ghd & |

21 Distinguish between large scale industries and small scale industries. 4

g3 TN & IEM dUT qg SN H 9% @iy |

22 Explain any two advantages of advertising, you get as a consumer. 4

fasmue & TRl & @9 @ GEHEY S SUMieT & ®9 B oYl fed ® |

23  Explain in any two ways how is insurance important for business. 4

frel &1 v@R ¥ g9sRy ff =aem & fo 9 @9 yeR Teaqel € °

24  State any four main characteristics of a capitalist economy. 4

Usierel steferaen @ feel 9) ged fagwdaet &1 sww @iy |

25 What is an economic problem ? Why does an economic problem arise ? 4

aifer TH@T w1 BdT & ¢ onife wweEn SO Bl 8 7

26 State in any four ways the importance of public sector in economic development 4
of India.

dl R yBR ¥ waEu f6 9nRa & oni¥w faew ¥ wEdste &3 w1 @
HEd § °

27 'India is a developing country'. Justify this statement in any four ways. 4

‘qRa Uwh faemElid 397 T I 39 HUT @1 oiifad fhdl UR YR § SAEy |
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How do economic factors affect development of a country ? 4

i ®Re fhal <91 & faht@ & »¥ gAad ®wid & °

What is meant by air pollution ? State any three sources of air pollution. 4

I YUY ¥ F AHU™ ¥ P A1g UEWUl & fEel dF @il 1 @ st |

Distinguish between exhaustible and inexhaustible natural resources. 4
Give two examples of each.

FIINE dAT HFINA e H 9% Hioy | TA® b &l ey Wy |

Explain any three reasons of differences in income from work. 6

wF T AT H I TN % fhEl 99 dRON hl gHIEY |

Explain the three important factors that influence the decision of a seller 6
in fixing the price of his product.

ST & O HTHI B AT DI ST a%g Bl B Eiia & H e
fashar & fofg & gwifaq @@ &

How do 'education' and 'nature of occupation' influence the birth rate ? 6

Toraw qan USMR & UHla o & B HY GHTId HId & 7

Explain any three ways in which consumers are exploited. 6

g fpel dF [t & gy e g0 Susier &1 9ier /g ® O
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